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Exercise

1. Which minimum measurements do. You

require to check if the given figures are

congruent? Two rectangles.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yxB0LJn3nVNQ


Watch Video Solution

2. Which minimum measurements do you

require to check if the given figures are

congruent: 

i. Two rectangles  ii. Two rhombuses.

Watch Video Solution

     

3. AB is a line segment and line l is its

perpendicular bisector. If a point P lies on l,

https://dl.doubtnut.com/l/_yxB0LJn3nVNQ
https://dl.doubtnut.com/l/_JeRB0DejbtRd
https://dl.doubtnut.com/l/_LYCyILVUo8vV


show that P is equidistant from A and B.

Watch Video Solution

4. State whether the following triangles are

congruent or not? Give reasons for your

answer. 

Watch Video Solution

https://dl.doubtnut.com/l/_LYCyILVUo8vV
https://dl.doubtnut.com/l/_qEVc20BoNcqm


5. State whether the following triangles are

congruent or not? Give reasons for your

answer. 

Watch Video Solution

https://dl.doubtnut.com/l/_qEVc20BoNcqm
https://dl.doubtnut.com/l/_h5485QXtDGFl


6. In the given figure, the point P bisects AB

and DC. Prove that 

Watch Video Solution

△ APC ≅ △ BPD

7. Two triangles are congruent, if two. Angles

and the included side of one triangle are equal

to two angles and the included side of the

other triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_9bHWu6Tcete1
https://dl.doubtnut.com/l/_lVG7milvja2D
https://dl.doubtnut.com/l/_S732qAGS5Pdc


8. In the given figure,  E is mid

point of BC. Show that 

Watch Video Solution

AL ∣ ∣ DC

△ EBL ≅ △ ECD

9. Use the information given in the adjoining

figure, to prove △ DBC ≅ △ EAC

https://dl.doubtnut.com/l/_S732qAGS5Pdc
https://dl.doubtnut.com/l/_zIFhi8T3SBzD


Watch Video Solution

10. Use the information given in the adjoining

figure, to prove DC=EC

Watch Video Solution

https://dl.doubtnut.com/l/_zIFhi8T3SBzD
https://dl.doubtnut.com/l/_LBlbFrGpfIr6


11. In quadrilateral

 bisects 

Show that . 


What can you say about BC and BD? 

Watch Video Solution

ACBD, AC = AD and AB ∠A

ΔABC ≅ΔABD

https://dl.doubtnut.com/l/_LBlbFrGpfIr6
https://dl.doubtnut.com/l/_87DTIAEC8Yfb
https://dl.doubtnut.com/l/_VfVkJsXRBh5r


12. ABCD is a quadrilateral in which AD = BC

and  Prove that 


 


(ii)  


(iii)  


Watch Video Solution

∠DAB = ∠CBA

(i)ΔABD ≅ΔBAC

BD = AC

∠ABD = ∠BAC

https://dl.doubtnut.com/l/_VfVkJsXRBh5r


13. ABCD is a quadrilateral in which AD = BC

and  Prove that 


 


(ii)  


(iii)  


Watch Video Solution

∠DAB = ∠CBA

(i)ΔABD ≅ΔBAC

BD = AC

∠ABD = ∠BAC

https://dl.doubtnut.com/l/_9FNcoUG8wiBW


14. AD and BC are equal and perpendiculars to

a line segment AB. Show that CD bisects AB. 

Watch Video Solution

15. l and m are two parallel lines intersected by

another pair of parallel lines p and q . Show

https://dl.doubtnut.com/l/_9FNcoUG8wiBW
https://dl.doubtnut.com/l/_NP6gvT323gHq
https://dl.doubtnut.com/l/_y4kLvGNdpfB4


that . 


Watch Video Solution

ΔABC ≅ΔCDA

16. In the figure given below AC=AE ABAD and

= . Show that BC = DE.an ≥ lBAD an ≥ lEAC

https://dl.doubtnut.com/l/_y4kLvGNdpfB4
https://dl.doubtnut.com/l/_I6yy0iuLf8fa


Watch Video Solution

17. In right triangle ABC, right angle is at 'C'. M

s the mid-point of hypotenuse . ABC is joined

to M and produced to a point D such that DM

= CM. Point D is Joined to point B (see fig.).

https://dl.doubtnut.com/l/_I6yy0iuLf8fa
https://dl.doubtnut.com/l/_NGbJrA9ajCgP


Show that: 

Watch Video Solution

CM = AB
1

2

18. If the bisector of an angle of a triangle also

bisects the opposite side, prove that the

triangle is isosceles.

Watch Video Solution

https://dl.doubtnut.com/l/_NGbJrA9ajCgP
https://dl.doubtnut.com/l/_MUIY0dTaPBkD


19. In the given figure ABC is a right triangle

and right angled at B such that

 


Show that hypotenuse AC = 2BC. 

∠BCA = 2∠BAC.

https://dl.doubtnut.com/l/_MUIY0dTaPBkD
https://dl.doubtnut.com/l/_CpSMYLTgXi0v


Watch Video Solution

20. In , the bisector AD of A is

perpendicular to side BC Show that AB = AC

and  is isosceles. 


Watch Video Solution

ΔABC

ΔABC

https://dl.doubtnut.com/l/_CpSMYLTgXi0v
https://dl.doubtnut.com/l/_rv9idQjOSniQ


21. In the given figure, AB=BC and AC=CD. Prove

that = 3:1

Watch Video Solution

an ≥ lBAD : an ≥ lADB

22. In an isosceles triangle ABC with AB = AC, D

and E are points on BC such that BE = CD (see

https://dl.doubtnut.com/l/_rv9idQjOSniQ
https://dl.doubtnut.com/l/_9EM2AYy0kuyi
https://dl.doubtnut.com/l/_1PBJL7ch1lRt


figure) Show that AD = AE

Watch Video Solution

23. In an isosceles triangle ABC, with AB =AC,

the bisectors of  and  intersect each∠B ∠C

https://dl.doubtnut.com/l/_1PBJL7ch1lRt
https://dl.doubtnut.com/l/_0KFpDfBDW4Xe


other at 'O'. Join A to O. AO bisects 

Watch Video Solution

∠A

24. In , AD the perpendicular bisector

of BC (see given figure). Show that  is

△ ABC

△ ABC

https://dl.doubtnut.com/l/_0KFpDfBDW4Xe
https://dl.doubtnut.com/l/_UH3bSsln5e1Z


an isosceles triangle in which AB=AC.

Watch Video Solution

25. ABC is a triangle in which altitudes BD and

CE to sides AC and AB are equal (see figure) .

Show that 

 
(i)ΔABD ≅ΔACE

https://dl.doubtnut.com/l/_UH3bSsln5e1Z
https://dl.doubtnut.com/l/_xT1UFVtQFEH0


 i.e., ABC is an isosceles triangle.

Watch Video Solution

(ii)AB = AC

https://dl.doubtnut.com/l/_xT1UFVtQFEH0


26.  and  are two isosceles

triangles on the same base BC (see figure).

Show that .

Watch Video Solution

△ ABC △ DBC

an ≥ lABD = an ≥ lACD

https://dl.doubtnut.com/l/_IPThKmwE2vnJ


27. Through construction we have seeri that

SSS congruency rule hold. This theorem can be

proved using a suitable construction.

Watch Video Solution

28. In the figure given below  and 

 are two triangles such that AB=BD,

△ ABC

△ DBC

https://dl.doubtnut.com/l/_4cCSIR6lQJ1F
https://dl.doubtnut.com/l/_N6fy3CZ20ydD


and AC=CD. Show that 

Watch Video Solution

△ ABC ≅DBC

29. P is a point equidistant from two lines l

and m intersecting at point A (see figure).

Show that the line AP bisects the angle

https://dl.doubtnut.com/l/_N6fy3CZ20ydD
https://dl.doubtnut.com/l/_vF9LAsgCQIME


between them. 

Watch Video Solution

30. AD is an altitude of an isosceles triangle

ABC in which AB = AC. Show that, (i) AD bisects

BC (ii) AD bisects 

Watch Video Solution

∠A.

https://dl.doubtnut.com/l/_vF9LAsgCQIME
https://dl.doubtnut.com/l/_yDGgbN9LuuYx


31. AD is an altitude of an isosceles triangle

ABC in which AB = AC. Show that, (i) AD bisects

BC (ii) AD bisects 

Watch Video Solution

∠A.

32. Two sides AB, BC and median AM of one

triangle ABC are respectively equal to sides PQ

and QR and median PN of  (see△ PQR

https://dl.doubtnut.com/l/_yDGgbN9LuuYx
https://dl.doubtnut.com/l/_WJsQsSM1Qaon
https://dl.doubtnut.com/l/_VdJJj5kAdU4a


figure). Show that: 

Watch Video Solution

△ ABC ≅ △ PQR

33. BE and CF are two equal altitudes of a

triangle ABC. Using RHS congruence rule,

prove that the triangle ABC is isosceles.

Watch Video Solution

https://dl.doubtnut.com/l/_VdJJj5kAdU4a
https://dl.doubtnut.com/l/_SahpJ7aMYong


34.  is an isosceles triangle in which

AB = AC. Show  (Hint : Draw

`APbotBC) (Using RHS congruence rule)

Watch Video Solution

△ ABC

∠B = ∠C

35.  is an isosceles triangle in which AB

= AC. Side BA is produced to D such that AD =

AB (see figure). Show that  is a right

ΔABC

∠BCD

https://dl.doubtnut.com/l/_dkihRgeNIqSd
https://dl.doubtnut.com/l/_LIjwtEcpPKpJ


angle. 

Watch Video Solution

36. ABC is a right angled triangle in which

 and . Show that 

.

∠A = 90∘
AB = AC

∠B = ∠C

https://dl.doubtnut.com/l/_LIjwtEcpPKpJ
https://dl.doubtnut.com/l/_Imo2ZIQxw4Pr


Watch Video Solution

37. Show that the angles of an equilateral

triangle are  each.

Watch Video Solution

60∘

38. In , D is a point on side BC, 

 such that AD. AC (see figure).

∠ABC

△ ABC

https://dl.doubtnut.com/l/_Imo2ZIQxw4Pr
https://dl.doubtnut.com/l/_EJeX1gWd2Dj7
https://dl.doubtnut.com/l/_v8eqgl1wnfW0


Watch Video Solution

39. Show that in a right angled triangle, the

hypotenuse is the longest side.

Watch Video Solution

https://dl.doubtnut.com/l/_v8eqgl1wnfW0
https://dl.doubtnut.com/l/_ykBo2DJqNjFC


40. In the given figure,  and 

. Show that .

Watch Video Solution

∠B < ∠A

∠C < ∠D AD < BC

41. AB and CD are respectively the small est

and longest sides of a quadrilateral ABCD (see

https://dl.doubtnut.com/l/_rVGpmOBUm2yv
https://dl.doubtnut.com/l/_GGNIaqQGjiMt


figure). Show that  and .

Watch Video Solution

∠A > ∠C ∠B > ∠D

https://dl.doubtnut.com/l/_GGNIaqQGjiMt


42. If two sides of a triangle measure 4 cm and

6 cm find all possible measurements (positive

Integers) of the third side. How many distinct

triangles can be obtained?

Watch Video Solution

43. State SAS congruency rule.

Watch Video Solution

https://dl.doubtnut.com/l/_PlhFj3XhNE2q
https://dl.doubtnut.com/l/_CgLDOY76D6f9


44. State ASA congruency rule.

Watch Video Solution

45. State SSS congruency rule.

Watch Video Solution

46. State RHS congruency rule.

Watch Video Solution

https://dl.doubtnut.com/l/_Kh4CC1rsqL5k
https://dl.doubtnut.com/l/_ivSzYz0KNlgL
https://dl.doubtnut.com/l/_ZUFzCk82oyL0


47. Write the properties of a triangle re lating

to its sides.

Watch Video Solution

48. What are called congruent figures?

Watch Video Solution

49. When do you say that

 ? (Use S.S.S. congruent△ ABC ≅ △ DEF

https://dl.doubtnut.com/l/_6Qs9WD9qvfNN
https://dl.doubtnut.com/l/_qznRhtBFuWHb
https://dl.doubtnut.com/l/_b3eScmGZWTna


rule).

Watch Video Solution

50. In the given figure, the point P bisects AB

and DC. Prove that 

Watch Video Solution

△ APC ≅ △ BPD

51. Observe the given figure and show that

 is Isosceles.△ ABC

https://dl.doubtnut.com/l/_b3eScmGZWTna
https://dl.doubtnut.com/l/_xNhLPiQHDFgw
https://dl.doubtnut.com/l/_SvwmRz9Vt6y3


Watch Video Solution

52. Observe the given figure and show that

.△ EBL ≅ trian ≥ lECD

https://dl.doubtnut.com/l/_SvwmRz9Vt6y3
https://dl.doubtnut.com/l/_MPiqUvr8TUQZ


Watch Video Solution

53. Show that in a right angled triangle, the

hypotenuse is the longest side.

Watch Video Solution

https://dl.doubtnut.com/l/_MPiqUvr8TUQZ
https://dl.doubtnut.com/l/_PIPS8JFivq48
https://dl.doubtnut.com/l/_MXQuUTMeqeY0


54. Figures having same shape and size are

called ______ figures.

A. Congruent

B. Identical

C. Similar

D. Different

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MXQuUTMeqeY0


55. Two squares are congruent if they have

same

A. Shape

B. Side

C. Angles

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_87f6n2p8xG6C
https://dl.doubtnut.com/l/_eJBeN9TyK7dG


56. If , then  =

A. 

B. 

C. 

D. Right angle

Answer:

Watch Video Solution

ΔPQR ≅ΔABC ∠R

∠A

∠B

∠C

57. Any two circles are

https://dl.doubtnut.com/l/_eJBeN9TyK7dG
https://dl.doubtnut.com/l/_uQQ7YNhpGmbu


A. Similar

B. Congruent

C. Equal

D. Not equal

Answer:

Watch Video Solution

58.  Is an isosceles triangle and ‘S’ is

the mid-point of  then 

ΔPQR

¯̄¯̄̄ ¯QR ΔPQS ≅

https://dl.doubtnut.com/l/_uQQ7YNhpGmbu
https://dl.doubtnut.com/l/_QiErdcDl9MNW


A. 

B. 

C. 

D. 

Answer:

ΔPSR

ΔRSP

ΔSPR

ΔPRS

https://dl.doubtnut.com/l/_QiErdcDl9MNW


Watch Video Solution

59. If in ,  is the longest side, then

the greatest angle is

A. 

B. 

C. 

D. Right angle

Answer:

Watch Video Solution

ΔDEF ¯̄¯̄¯̄DF

∠D

∠E

∠F

https://dl.doubtnut.com/l/_QiErdcDl9MNW
https://dl.doubtnut.com/l/_L8zz5GfvrIff


60. If in  ,  Then

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔPQR PQ > QR

∠R > ∠P

∠P > ∠Q

∠R > ∠P

∠P < ∠Q

https://dl.doubtnut.com/l/_L8zz5GfvrIff
https://dl.doubtnut.com/l/_QR3w4rAh004X
https://dl.doubtnut.com/l/_3EImuczuaYE3


61. In  which of the following is True?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔABC

AB + BC < AC

AB − AC > AC

BC + CA < AB

AB + BC > AC

https://dl.doubtnut.com/l/_3EImuczuaYE3


62. In  W is a point on YZ such that XW

= XZ, then

A. XY=XW

B. 

C. 

D. 

ΔXY Z

XY > XW

XY < XW

XY < XZ

https://dl.doubtnut.com/l/_pM4V46AKwTRx


Answer:

Watch Video Solution

63. In the figure AB is a line segment and PQ is

an arc with centre A then

https://dl.doubtnut.com/l/_pM4V46AKwTRx
https://dl.doubtnut.com/l/_LGbQqTjmxQVd


A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

∠QAB < ∠PAB

∠QAB > ∠PAB

∠QAB = ∠PAB

https://dl.doubtnut.com/l/_LGbQqTjmxQVd


64. In rhombus ABCD  

A. 

B. 

C. 

ΔAOB ≅

ΔBOC

ΔCOD

△ DOA

https://dl.doubtnut.com/l/_spVsGr0p8y0P


D. All of the above

Answer:

Watch Video Solution

65. In the figure PQ = SQ, PR = SR, then

 by ____________ congruence .ΔPQR ≅ΔSQR

https://dl.doubtnut.com/l/_spVsGr0p8y0P
https://dl.doubtnut.com/l/_rMZkTJewLiHf


A. R.H.S.

B. S.A.S.

C. S.S.S.

D. A.S.A.

Answer:

Watch Video Solution

66. In  , altitudes BD and CE are equal,

then  by _______Congruence.

ΔABC

ΔDCB ≅ΔEBC

https://dl.doubtnut.com/l/_rMZkTJewLiHf
https://dl.doubtnut.com/l/_KyDPUd4KlOHD


A. A.S.A.

B. S.A.S.

C. S.S.S.

D. R.H.S

https://dl.doubtnut.com/l/_KyDPUd4KlOHD


Answer:

Watch Video Solution

67.  is isosceles with sides AB = AC,AD is

the altitude, if  then =

A. 

B. 

C. 

D. None

ΔABC

∠BAD = 50∘ ∠CAD

40∘

130∘

50∘

https://dl.doubtnut.com/l/_KyDPUd4KlOHD
https://dl.doubtnut.com/l/_H9IeU1whvMfk


Answer:

Watch Video Solution

68. If three angles of a triangle are equal To

three angles of another triangle then they are

A. Congruent

B. Equal

C. Similar

D. Can’t be said

https://dl.doubtnut.com/l/_H9IeU1whvMfk
https://dl.doubtnut.com/l/_XGpwoSMKFhM6


Answer:

Watch Video Solution

69. The angle of an equilateral triangle is

A. 

B. 

C. 

D. 

Answer:

30∘

45∘

90∘

60∘

https://dl.doubtnut.com/l/_XGpwoSMKFhM6
https://dl.doubtnut.com/l/_MiSqjvdVnKd0


Watch Video Solution

70. In  , AB = AC and  we can

prove that  Using

A. SSS congruency rule

ΔABC AP ⊥ BC

∠B = ∠C

https://dl.doubtnut.com/l/_MiSqjvdVnKd0
https://dl.doubtnut.com/l/_p0NZpLYXHoWS


B. RHS congruency rule

C. SAS congruency rule

D. ASA congruency rule

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_p0NZpLYXHoWS


71. In ,  , then

A. 

B. 

C. 

D. 

ΔABC AB > AC

∠C < ∠B

AB + AC < BC

∠C > ∠B

AB − AC > BC

https://dl.doubtnut.com/l/_63ea92Iqfu0u


Answer:

Watch Video Solution

72. Which of the following set of

measurements is not possible to construct a

Triangle ?

A. 5 cm, 8 cm, 4 cm

B. 2 cm, 4 cm, 8 cm

C. 7 cm, 5 cm, 3 cm

D. 5 cm, 8 cm, 1 cm

https://dl.doubtnut.com/l/_63ea92Iqfu0u
https://dl.doubtnut.com/l/_sa5y8hZCpbNy


Answer:

Watch Video Solution

73. Which measurement is required to Make a

triangle along with sides 4 cm and 6 cm ?

A. 1cm

B. 2cm

C. 3 cm

D. 1.5 cm

https://dl.doubtnut.com/l/_sa5y8hZCpbNy
https://dl.doubtnut.com/l/_ItO1fzPy9Q8x


Answer:

Watch Video Solution

74. Which of the following statement is not

correct ?

A. In 

B. In  , if  then 

C. In a right angled triangle, the

hypotenuse is the smallest side

ΔABC, ∠A + ∠B + ∠C = 180∘

ΔABC AB > BC C > A

https://dl.doubtnut.com/l/_ItO1fzPy9Q8x
https://dl.doubtnut.com/l/_5FU4KWPA5m8H


D. In , if AB=BC, then 

Answer:

Watch Video Solution

ΔABC ∠C = ∠B

75. Which congruency rule is applied in the

following figures?

A. R.H.S

https://dl.doubtnut.com/l/_5FU4KWPA5m8H
https://dl.doubtnut.com/l/_2qbmTMGaNoCa


B. A.S.A

C. S.A.S

D. S.S.S.

Answer:

Watch Video Solution

76. Which congruency rule is taken for the

following figures?

https://dl.doubtnut.com/l/_2qbmTMGaNoCa
https://dl.doubtnut.com/l/_7dAdnWGQHGvg


A. S.S.S

B. S.A.S

C. A.S.A

D. R.H.S.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_7dAdnWGQHGvg
https://dl.doubtnut.com/l/_RHbgE0NIFHu7


77. Which congruency rule is taken into

consideration in the following figures?

A. S.S.S

B. S.A.S.

C. A.S.A

D. R.H.S.

Answer:

https://dl.doubtnut.com/l/_RHbgE0NIFHu7


Watch Video Solution

78. In , PQ = 5 cm, QR= 12 cm, and PR =

13 cm, then PQR is

A. an acute angle triangle

B. A right angled triangle

C. An obtuse angled triangle

D. An equilateral triangle

Answer:

Watch Video Solution

ΔPQR

https://dl.doubtnut.com/l/_RHbgE0NIFHu7
https://dl.doubtnut.com/l/_RCT1ClU4efAO


79. The angles of a triangle are in the ratio

5:3:7, then the triangle is

A. An obtuse angled triangle

B. Right angle triangle

C. An Isosceles triangle

D. An acute angled triangle

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RCT1ClU4efAO
https://dl.doubtnut.com/l/_B0LqCWT8Rjyp


80. In  ,  if  and  are

the bisectors of  and , then the value of

 is

A. 

B. 

C. 

ΔABC ∠A = 40∘ ¯̄̄ ¯̄¯BO ¯̄̄ ¯̄¯CO

∠B ∠C

∠BOC

110∘

70∘

40∘

https://dl.doubtnut.com/l/_zfN42Ivyv2sV


D. 

Answer:

Watch Video Solution

40∘

81. Which of these is a postulate?

A. A.A.A

B. A.S.A

C. S.S.S

D. S.A.S

https://dl.doubtnut.com/l/_zfN42Ivyv2sV
https://dl.doubtnut.com/l/_DNSRUoQMvCpt


Answer:

Watch Video Solution

82. In the given diagram BD = AD and AC = CD

then 

A. 0.12569444444444

∠CAB : ∠ABD

https://dl.doubtnut.com/l/_DNSRUoQMvCpt
https://dl.doubtnut.com/l/_0kxNUeg9W948


B. 0.04375

C. 0.044444444444444

D. 0.16736111111111

Answer:

Watch Video Solution

83. In , D, E are the mid points 

of F, G are the mid points of .If 

, then BC=

ΔABC ¯̄̄ ¯̄¯AB, ¯̄̄ ¯̄¯AC

¯̄¯̄¯̄AD, ¯̄̄ ¯̄¯AE

¯̄¯̄̄ ¯FG = 2cm

https://dl.doubtnut.com/l/_0kxNUeg9W948
https://dl.doubtnut.com/l/_CN8q6Ph81upd


A. 10 cm.

B. 4 cm.

C. 6cm.

D. 8 cm.

Answer:

Watch Video Solution

84.  is an equilateral triangle.X,Y,Z are

the mid points of the sides and A,B,C are mid-

points of sides of . If the perimeter of 

ΔPQR

ΔXY Z

https://dl.doubtnut.com/l/_CN8q6Ph81upd
https://dl.doubtnut.com/l/_UleVQN8veZZY


 is 8.4cm., then the perimeter of 

=

A. 4.2cm.

B. 8.4 cm.

C. 2.1cm.

D. 2.8 cm.

Answer:

Watch Video Solution

ΔPQR

ΔABC

https://dl.doubtnut.com/l/_UleVQN8veZZY


85. The exterior angle at R in  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔPQR

120∘

60∘

80∘

100∘

https://dl.doubtnut.com/l/_OTFL69GZIGbF


86. In  the biggest angle is at which

vertex?

A. X+Y+Z

B. X

C. Y

D. Z

Answer:

Watch Video Solution

ΔXY Z

https://dl.doubtnut.com/l/_u6Ty1i6VvSW2
https://dl.doubtnut.com/l/_9cCiNNOk2QjV


87. DBCby which congruency

rule?

A. A.A.A.

B. S.S.S

C. S.A.S

D. A.S.A

Answer:

Watch Video Solution

△ ABC ≅ △

https://dl.doubtnut.com/l/_9cCiNNOk2QjV


88. In the given triangle is it possible to exist

all exterior angles as right angles.

A. Never possible

B. Always possible

C. Sometimes possible

D. There can be 2 rights angles

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RLLP8hV919OT
https://dl.doubtnut.com/l/_DrBaF8fi7N7c


89. "In a triangle median decides the triangle

into two triangle whoes areas are equal.”

Rough diagram for the above statement is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_DrBaF8fi7N7c
https://dl.doubtnut.com/l/_DLpkEO1qqKHq


90.  is a Rhombus prove

that the diagonals divides the Rhombus info

for congruent triangles (let the point of

intersection is O) for the above problem what

is R.T.P?

A. 

B. 

C. 

rec tan g ≤ ABCD

ΔABC ≅ΔACD ≅ΔABD ≅ΔBCD

ΔABC ≅ΔACD

ΔABD ≅ΔBCD

https://dl.doubtnut.com/l/_DLpkEO1qqKHq


D. 

Answer:

Watch Video Solution

ΔOAB ≅ΔOBC ≅ΔOCD ≅ΔOAD

91. From the given figure, what is the

additional information needed to prove

https://dl.doubtnut.com/l/_DLpkEO1qqKHq
https://dl.doubtnut.com/l/_LxeCD06h3Qp0


?

A. BE=CD

B. 

C. 

D. BD=CE

Answer:

ΔOBD = ΔOCD

∠BOE = ∠COD

∠OBE = ∠OCD

https://dl.doubtnut.com/l/_LxeCD06h3Qp0


Watch Video Solution

92. In  are medians 

 . To prove  it was

written as In  'D' is the mid-point of 

 and  . As per triangle mid-

point theorem F is the mid-point of

. Which of the following is

the next step? Which of the following is the

ΔABC, ¯̄¯̄¯̄AD, ¯̄̄ ¯̄¯BE

¯̄̄ ¯̄¯BE ∣ ∣ ¯̄¯̄¯̄DF CF = AC
1

4

ΔABC

¯̄̄ ¯̄¯BC BE ∣ ∣ DF

¯̄̄ ¯̄¯CE ∴ CF = CE
1

2

https://dl.doubtnut.com/l/_LxeCD06h3Qp0
https://dl.doubtnut.com/l/_uWJMiBbQ8YYK


next step?

A. 

B. 2CF=CE

C. 

D. 4CF=AC

CF = AC
1

4

CF = ( AC)
1

2

1

2

https://dl.doubtnut.com/l/_uWJMiBbQ8YYK


Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_uWJMiBbQ8YYK

